Answers to Tutorial 2

Tutorial 2
Indirect Addressing

	1.
	a) STM #400h, AR4 ; Correct.

b) STM #20, AR5-   ; Should be STM #20, *AR5-.

c) STM 200h, AR1+  ; Should be STM #200h, *AR1+.
d) STM 600, AR7   ; Correct.

e) STM #2, -AR5   ; Should be STM #2, *AR5-.

f) STM 30h, *AR6+ ; Should be STM #20h, *AR6+. 

	2.
	a) LD *AR2, A+   ; Incorrect. Should be LD *AR2, A

b) LD *AR6- B-   ; Incorrect. Should be LD *AR6, B

c) LD *          ; Incorrect. Missing operands.

d) LD *AR4-, B   ; Correct.

e) LD *AR5+, A   ; Correct

f) LD *AR3, A    ; Correct 

	3.
	Indirect addressing has the following advantages over direct addressing:

a) The full 16-bit address is specified so the DP does not have to be used.

b) The auxiliary register uses as the pointer can be incremented or decremented

    as part of the instruction which is useful for working on blocks of data.

	4.
	To increment auxiliary register AR4 as part of the instruction LD we write:

LD *AR4+, A  ; Load accumulator A and increments AR4.

	5.
	To decrement auxiliary register AR3 as part of the instruction LD we write:

LD *AR3-, A ; Load accumulator A and decrements AR3.

	6.
	The instruction LD *AR2+, A is used to load accumulator A with the contents of the data memory address pointed to by auxiliary register AR2 then decrements AR2.

	7.
	The instruction STL A, *AR2 store the low word of accumulator A at the data memory address pointed to by auxiliary register AR2.

	8.
	The instruction STH B, *AR3 means store the high word of accumulator B at the data memory address pointed to by auxiliary register AR3.

	9.
	When the TMS320C5000 is made to operate in a way compatible with earlier devices, the current auxiliary register is the register that determines which auxiliary register is used for indirect addressing. 

	10.
	When the TMS320C5000 is made to operate in a way compatible with earlier devices, the auxiliary register pointer is the register that contains the number of the auxiliary register to be used for indirect addressing.

	11.
	To make auxiliary register AR6 the current auxiliary register we write:

LD #6, ARP.
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